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Choose the correct answer :

1. Tqs YA H TEEl Wigen T

(10 x 2 = 20 37/ Marks)

The first lady Governor of independent India was :

(a) foom @ast ufea/Vijaya Lakshmi Pandit

(c) Tt g/ Sarojini Naidu

(b) ¥iten Sifem/Sheila Dixit
(d) ¥ & Fr T&/None of these

2. Wit Tea-affd it (MODVAT) =1 Ty fFmd § -

MODVAT is related to :

(a) fert-=vSales Tax
(c) sma-=vIncome Tax

3. YA Y o A E ?
Which is the Capital of Bhutan ?

(a) ftarParis
(c) femg/Thimpu

4. e g g wR-m A E e ?

Gobar gas mainly contains :

(a) @i erdemEEE/Carbon dioxide
(c) TegeM wewgs/Hydrogen Sulphide

5. AR T = 2
Myanmar is the name of :

(@) “EF/Bhutan
(c) =wi/Burma

6. TR WIet T g € S gl ¢

Stainless steel is an alloy whereas airis a :

(a) TWGas
(c) i fagmyCompound

7. o fagr @ fre T ?

Atomic theory was invented by :

(a) sm=/Benjamin
(c) @reré Fwe/Elbert Einstein

(b) -FyWealth Tax
(d) Se-yeh/Excise Duty

(b) FreKabul
(d) &wA/Tehran

(b) =i FHIeTERIEE/Carbon Monoxoide
(d) fae/Methane

(b) emeive/Thailand
(d) sierSrilanka

(b) fasMixture
(d) =erSolution

(b) AT =/Marie Curie
(d) =i re=A/John Dalton




8. Herde oné f i F A 2
MacMahon line is between :
(a) s 8l wiwsaryindia and Pakistan (b) s sl e Pakistan and Srilanka
(c) wma 3ik <fiwindia and China (d) Wit st <iw/Pakistan and China

9. feresirmes 1 for i % ferd e fom men 22

Seismograph is used to measure :

(a) F9i/Rain water (b) Tt = Tewé/Depth of water
(c) argam/Speed of wind (d) sE/Earthquake
10, vt sferg & firg g 1 @ 7 % AW @ S d 2
Which period is known as the Golden Age in Indian History ?
(a) 3m FWAryans period (b) T =E/Guptas period
(c) = 7Mauryans period (d) = Fme/Slave period
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(10 x 2 = 20 3iF/Marks)
11.8:7%:81:4
(a) 16 (b) 24
(c) 32 (d) 26

12. Frfafas Temst #1 aifw 7 21 R
18, 15, x, 22, 28, 31 ﬁ‘x’mwmﬁﬁq:

The average of the following numbers is 21.
18, 15, x, 22, 28, 31. Find the value of 'x':

(a) 10 (b)
(c) 14 (d)
13, 7t T SRR 0T oA 14 T, ¥, A 7o TRET 96 B [n=7)
; . 22
If the diameter of a semi-circular protractor is 14 cm, then find its perimeter : ( = —7-)
(a) 28 (b) 30
(d) 36

(c) 32
14, k% fot w1 2 for weemeor 43@ + kx + 9 = 0 3 e T B 7

For what values of k, the equation 4%* + kx + 9 = 0 will have equal roots ?
(b) 10

(a) 12
16

(c)




15. fe1 & ¢ el ®1 wea T H
Find the median of the following numbers

2,10,8,8,5,2,.3, 7, 11

(a)

4 (b
c) 6

) 5
(@ 7

X
16. afc 2x + y = 35 it 3x + 4y = 65 A v %1 A 10 R ;

X
If 2x + y = 35 and 3x + 4y = 65, find the value of ; :

(@) 6 (b) 3
() 9 (d) 12
17. T = wfvem fem & 15 . wmon & ai fire g fen & 8 . s € s i £ o o e fag A 9 @
et g m d?
A man goes 15 m due west and then 8 m due north. Find the shortest distance from the starting point.
(@) 15 (b) 16
() 17 (d) 18

18, ft 1§ 7% 60 7. ¥ et WY 37k 80 T H o & o o vt whowr o e g ?
If an article purchased for Rs. 60 is sold for Rs. 80, what is the % of profit or loss on sale ?

(a) M 40%/Profit 40% (b) w4 50%/Profit 50%
(c) @M 25%/Profit 25% (d) @ 30%/Profit 30%

19, TF 200 Wi Tl \EmE! UF farsiett % @ @ 15 Yovs F R e R, o Yoret & wer @ ant?
A 200 metres long train passes a pole in 15 seconds, what is the speed of the train ?

(a) 48 Km/h (b) 32 Km/h
(c) 56 Kmvh (d) 40 Km/h

20. 4000 %. = et TN W 8% A FI aftieh X TR 3 T4 Hl HURY S Fid FIAC :
Calculate the simple interest on Rs. 4000 for 3 years at 8% per annum :

(a) 850 (b) 960
(c) 980 (d) 880
ar - lli
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wEt foeheq At (10 x 2 = 20 37/Marks)

Choose the correct answer :

21, AR TH. F1 0 F 8 ?
Full form of R.AM. s :

(a) ftae T #HRY/Real Access Memory

(b) ew wwEw wHHi/Random Access Memory

(c) Y= wadtaw #AWKYRandom Available Memory
(d) ¥ @ = TEl/None of these







22, R5E ST o1 SR WA S e T W (item) :
An item found on the standard office tool bar :

(a) ufez/Edit (b) wwTFile
(c) ¥ UHelp _ (d) firet weeme/Printer Short cut

23, T =t vt o e W # 7

The programming language that the Computer understands is :

(a) =i hayMachine language (b) e Ay Computer language
(c) s swmm/Source program (d) ¥ @ =¥ 7E/None of these

24, T } 1 Sevte @ waifm 12
Which is related to an internet ?

(@) ¥eerTelnet (b) % ¥E mail
(c) 7. ® w/UPS (d) T & %% Th/None of these

25, Fra A Aa-wm e . g, W fem T 7
Which of the following is not a part of C.PU. ?

(a) WrwR/Processor (b) © @ 3./ALU
(c) Rt #l/Primary Memory (d) =i 3gHCMOS Battery

26. T, T, g, ¥ 3119 1 T & 2
What do you understand by ALU ?

(a) TR wfwE Fe/Access Logical Unit  (b) sweffifess effore gf/Arithmetic and Logical Unit
(c) srdafem wim gfre/Arithmatic Log Unit (d) 3 & =% T&T/None of these

27. T et amge ¥ et Az w2

How many bites is in 1 Kilo Byte ?

(a) 1000 (b) 1024
(c) 1096 (d) 512

28, 1 GHz ¥ fif st wftr Sevs & €7
How many cycles per second is in 1 GHz ?

(a) 1,000 (b) 100,000
(c) 1,000,000 (d) 1,000,000,000

29, v firwem % W et 3 fog vt o 9 o o g 22
Which of the following holds the system date and time ?

(a) F=ra FrE/Control Card (b) T . . Ta./SMPS
(c) T/ROM (d) W S/CMOS Battery

30, W &7 3% SN F N el T A Vel B € ¢
The first file the Computer look for at the start up is :

(@) ¥EHelp (b) 7. € T, L/Auto Exe
(c) Fwre.®M/Command.Com (d) Tfee=m/Edit.Com




ENGLISH

Choose the appropriate word from the four choices which best describes the meaning of the Word or
Phrase underlined : (10 x 2 = 20 375/ Marks)

31. His achievement has been incompatible with his efforts.

(a) proportionate (b) excessive
(c) consistent (d) inconsistent

32. | never expected such licentious conduct from him.

(a) illegal (b) full of deceit
(c) irresponsible (d) immoral

33. She marvelled at her husband's boldness.

(a) was greatly surprised (b) shocked
(c) be happy (d) be proud

34. He is always making such nebulous proposals :

(a) ambitious (b) insulting
(c) vague (d) impracticable

Pick out the word that is most nearly the same (Synonyms) amongst the choices for the word
underlined.

35. Dexterous

(a) Unskilful (b) Skilled
(¢) Ignorant (d) lliterate
36. Erudite
(a) Uncertain (b) Learned
(c) Ignominous (d) Entire
37. Eutile
(a) Fruitful (b) Unsavoury
(c) Useless (d) Acceptable

Pick out the word that is opposite in meaning (Antonyms) amongst the choices for the word
underlined.

38. Oblivion

(@) Observation (b) Remembrance
{c) Memory (d) Memorizing
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(a) Thin
() Rigid

40. Naked

(a) Ignorant
{c) Clothed

(b) Fat
(d) None of these

(b) Uncivilised
{d) None of these
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(T 37/ Max. Marks : 20)

Note : Write the answers in the space provided below each question.

1. Read the paragraph below and answer the questions given at the end :

More than seventy per cent of the people of India live in villages. The number of towns and cities are much
less than that of villages. Most of the soldiers are also from villages. Most of the villages of today are not
the same as villages of past. Most of the villages have changed beyond recognition since India achieved
independence. In ten years time, you will not be able to recognise even your own village.

You will find a marked difference if you are not a villager and do not know it already. The houses ina village
were mud houses. They were dark, because they had very small doors and windows. Sometimes they had
no window at all. Such houses do not get enough light and fresh air. They are not good for health.

The streets were dirty. There was a lot of mud in the streets, because there were no drains. The villagers
threw their rubbish and cow dung near their houses. These cow dung heaps made the surroundings dirty.
Flies and germs breed on such dirty heaps. In this way so many diseases used to break out in villages. The
villagers took water for drinking from the wells, They washed their dirty clothing at the same well. The wells
were not clean.

Questions : (6 x 2 =10 Marks)
(a) Are there more towns in India than villages ?

(b) What are the villages of today like ?

$/122 PP/o8—2
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(©) Why are the houses in the village dark ?

(d) Why wee the street dirty ?

(e) What were the causes for break out of diseases in villages ?

Use the following idioms and phrases in your own sentences (attempt any Five)
(5 x 1 =5 Marks)

(a) In a nutshell

(b) Hard and fast

(©) At the eleventh hour

(d) Make good

(e) For Good

() Look forward to



